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001. oM AUlded M2l ewdl s& elwHl LY &q 2
(A) s4S (B) HeAleH (C) dRe (D) Qg3

002. %ol ta{ojee] AldcA sl oA WA & 2
(A) BRes (B) s (C) uArell (D)

003. @lRcloll BEs UTaR 2016-17 UgfAR A U Aol Aot A U2 (&R 2016-17

HI2 32l Rdclloll WELY B 2
(A) 10.6% (B) 7.8% (C) 5.4% (D) 4.1%

004. 36 YU AicdRHOvigl2L Uslas Gl Bell 3 SlEHl, §s WS, gecll A, Al
Geuleall, Wic?, Wlet, AAee ua ool ANANOLs Geuleet YUs is (IIP) Ui wUAR

gLl AU B,
(A) 38% (B) 48% (C) 58% (D) 68%

005. u2llsell QcAull 56 s8¢ elRAHL AL ® ?
(A) §5cl s
(B) Uisc, A5 A wHES
(C) Wsd, s, sitall Ul UM’
(D) Wtget, s, aitell, wiArell A WSS

006. (1A wuuAA U Axell (Beygl wd Ao A sl

Ad (Baysl
a) AMLeg 1) g Baydl
b) Acte 2) RojaL elsa
c) 983U 3) QiR Baygl
d) soflR 4) ousla dwia AyelA
(A) a-3,b-2,c—1,d-4 (B) a=1,b-4,¢c-3,d-2
(C) a-3,b-4,c-1,d-2 (D) a-2,b-1,c—4,d-3
007. QM3E UNCANell AURAR “QAHIA” A€ Aotl Bell % sall Eatoll AN cAqMiell 2ellstal 2
(A) AURIAS (B) 8l2@0S (C) Y. Ay A, (D) ¥ast
008. “ellRclla stloaloll Hicdl” i3 slal Wauu B 2
(A) aadl sue (B) QOIH &3l HSlA
(C) gal euell (D) AsH e{luil . st
009. oflAcit Ul sof WHIAR UA Aty gl AWt seUM oL WR] & ?
(A) Soslalet U le{l2Let (B) 2oL 83
(C) AU g Sdaul (D) &Rogst
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001. In which language was most of the Sangam literature created ?
(A) Kannada (B) Malayalam (C) Tamil (D) Telugu

002. By what name is the literature of Jain religious book known ?
(A) Tripitak (B) Jatak (C) Avesta (D) Aagam

003. What, according to the Economic Survey of India 2016-17, is the estimate of the growth
rate for the agriculture and allied sectors for 2016-17 ?

(A) 10.6% (B) 7.8% (C) 5.4% (D) 4.1%

004. The eight core infrastructure supportive industries viz., coal, crude oil, natural gas, refinery
products, fertilizers, steel, cement and electricity contribute to nearly in the
Index of Industrial Production (lIP).

(A) 38% (B) 48% (C) 58% (D) 68%

005. In which languages are Ashoka’s inscriptions written ?
(A) Prakrit only
(B) Prakrit, Greek and Aramaic
(C) Prakrit, Greek, Brahmi and Aramaic
(D) Prakrit, Greek, Brahmi, Kharosthi and Aramaic

006. Match the saints below with their respective philosophies.

Saint Philosophy
a) Ramanuja 1) Adwaita Philosophy
b) Chaitanya 2) Nirguna Bhakti
c) Shankara 3) Vishistadvaita philosophy
d) Kabir 4) Gaudiya Vaishnavism
(A) a-8,b-2,c-1,d-4 (B) a—1,b-4,c-3,d-2
(C) a—-8,b—-4,c—-1,d-2 (D) a-2,b-1,c—4,d-3

007. Leaders of Home Rule Movement adopted the term “Home Rule” from a similar movement
in which country ?

(A) lIreland (B) Scotland (C) U.S.A. (D) Canada
008. Who is known as “The Mother of Indian Revolution” ?

(A) Lakshmi Bai (B) Begum Hazrat Mahal

(C) Durga Bhabhi (D) Madam Bhikhaji Rustam Kama
009. Which of the following newspapers was not edited by Gandhiji ?

(A) Indian Opinion (B) Young India

(C) Voice of India (D) Harijan
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010. @R AR ARcloll ARSIRA A Urll AUl %ot 1948 Yellui euRcniell Qe AQ
Al MIAc 33, 19471l 81 53 ecll 2

(A) Qae (B) #Geetl2el (C) Aecll (D) AlAHsL
011. WREL AUR(A2AH, 1930 56 olledcd 3ol B2

(A) Lot (B) =l 3aaell

(C) uclyau suoyel (D) [Qucl Yot:coet

012. M32Aef YAHRR 56 ct€lowt (3oR 2udg] B2
(A) ueRHA (B) ueldl (C) ysuadl (D) oottt

013. @& AR dteet (WTO) oll ot wid ARs At Rstal etrcllal cuwlRs Al

Rstaell a 2015 i 32l Bl &cl ? |
(A) 7.3% (B) 5.3% (C) 3.3% (D) 1.3%

014. “arel %2l A A Al A UELSLA JYRAcA” S 56 B ?

(A) s[A WHRER (B) sl yo2l (C) sld uslcuc (D) s(Q otaie
015. oflAett U4l 5] ofsRUcle] Asefcd B ?
(A) a3lau (B) BHR (C) UdR (D) GURell dMH
016. sell 1l A% Bol ARAUAL tlol Blal Rl AL, HYR vitd Yy Yl Guciy sal 2
(A) llgaur (B) elo{lauR
(C) Uosdflcl Ml (D) w2ls

017. elRel YA 5 “slleaum” A& ol Aot ULl 56 (QAN2Acia LA B 2
(A) sUes (B) ojcal (C) ddllet (D) GURell cl3ud

018. o{lAsll clotlcllal UMALGsH Ui dN6cl
1) OllRYUE URUIAS
2) WSl ARUILS
3) HRAULU ARUILS
4) RSl ARUILSE

(A) 2,1,4,3 (B) 3,4,2,1 (C) 2,3,4,1 (D) 4,1,3,2
019. {RlcUSA AMell E6 sl RAUA LAl ?

(A) %=l (B) slletr (C) stslR (D) slesl
020. olitllA “Uclte A" of [Gl€ Slal 2] & 2

(A) [@ellou eud (B) 2l uusie

(C) stsl SIAASR (D) uniole Slaiodl
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010. InFebruary, 1947 who announced that British Government would handover all the power to
Indian Government and would leave India by June, 1948 ?

(A) Wavell (B) Mountbatten (C) Attlee (D) Simon

011. The Sharda Act of 1930 is related to which subject ?
(A) Child marriage (B) Women education
(C) Abolition of sati (D) Widow remarriage

012. On the banks of which river is the Modhera Sun Temple located ?
(A) Sabarmati (B) Sarasvati (C) Pushpavati (D) Banas

013. As per World Trade Organisation (WTO) data, what was the share of India’s commercial
services exports in global services exports for the year 2015 ?

(A) 7.3% (B) 5.3% (C) 3.3% (D) 1.3%

014. Who has said, “Jyan jyan vase ek Gujarati tyan tyan sadakal Gujarat” ?
(A) Poet Khabardar (B) Poet Munshi (C) PoetPannalal (D) Poet Narmad

015. Which of the following is a folk dance of Gujarat ?

(A) Gheria (B) Jhumar (C) Padhar (D) All of the above
016. Which Mauryan king became a Jain ascetic and fasted up to death at Sravan Belgola,

Mysore ?

(A) Bindusar (B) Bimbisar

(C) Chandragupta Maurya (D) Ashoka

017. Bharat Muni’s “Natya Shastra” is related to which of the following subject-matter ?
(A) Drama (B) Dance (C) Music (D) All of above

018. Arrange the following events in time frame :
1) Borsad Satyagrah
2) Kheda Satyagrah
3) Dharasana Satyagrah
4) Bardoli Satyagrah
(A) 2,1,4,3 (B) 3,4,2,1 (C) 2,3,4,1 (D) 4,1,3,2

019. At which place did Mirabai passed away ?

(A) Junagadh (B) Srinathiji (C) Dakore (D) Dwarka
020. To whom did Gandhiji give name of “Savai Gujarati” ?

(A) Vinoba Bhave (B) Swami Anand

(C) Kaka Kalelkar (D) Dharmanand Koshambi
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021.

022.

023.

024.

025.

026.

027.

028.

029.

030.

031.

aostcle] Rlyullaell rslie] 2an ABS| selt (BeetHl 2qdg 8 2
(A) USHEIGLE (B) 529 (C) A%¥812 (D) YRo%oldR

ICC w52 19 (332 ded sU2016 %l EA YR B ?

(A) elRd (B) $9Q0s (C) Az 8(3» (D) slcist
2etclstotl 320ell WelRell COHL AL A L Slell U BlowviA B 2

(A) R4l ua R (B) ololl Aal AYeil

(C) ol ual wddl (D) c@cucll ual wegunutdl
2016 ol stietlls AAE Sl Aot UL UL B 2

(A) HerAdl el (B) RRosiottal Usellc{l

(C) :ycllz Audl (D) sist €l

Weltell Yels “HRRAUSL €l Ml 3ARAe AeellA Wellell s €32lel 5€
(5l ULAell Bejetcl wAVRUL & ?

(A) atitlley (B) A28 HslRIY

(C) MRER U (D) [Qgeteus ue

sl iRl UASRA Se2a2lelel YU GlsH A Boll2Acd SAUHL uic ] ?
(A) yele AA (B) HAs{l Youugllay

(C) Y[R &sat (D) ¥l oU3

agrutelle] Bleu (Aot Sl 56 951 UMl Hofl ] B 2
(A) als (B) BuRsle (C) vieucllst (D) Y

ellRa sl 2 s2ucll 2016 solél acd su Rl 2
(A) Wcllol (B) &Rlet (C) ustllrcliet (D) wlideuat

URLIAUR” olaetsl SA cuvll ] 2

(A) Yudd (B) JALHEIM ASR
(C) anl Asten (D) [A2%at el
“SeY UdY” Hloll Roitirioe B 2

(A) yra oAl (B) [AellE eg

(C) ellouels e (D) yclR AWusl

ol Aot WS st AxAMl 55t UAR U ol ?
(A) RARU (B) Byl (C) sdludle (D) HBWYR
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021. In which district is Rojdi, site of Indus valley civilization, situated ?
(A) Ahmedabad (B) Kutch (C) Rajkot (D) Surendranagar
022. Which country has won the ICC under — 19 Cricket World Cup 2016 ?
(A) India (B) England (C) West Indies (D) Sri Lanka
023. By which name are the two casements situated in the outer part of Delwara Temples
known ?
(A) Riddhi and Siddhi (B) Ganga and Yamuna
(C) Jaya and Parvati (D) Lalitadevi and Anupamadevi
024. Who has been conferred with the 2016 Jnanpith Award ?
(A) Mahasveta Devi (B) Nirendranath Chakraborty
(C) Raghuvir Chaudhary (D) Shanka Ghosh
025. In his book, “Mansai na diva”, Zaverchand Meghani has recorded experiences during his
social work with which personality ?
(A) Gandhiji (B) Ravishankar Maharaj
(C) Sardar Patel (D) Vitthalbhai Patel
026. Which Indian journalist has been conferred the International Press Freedom Award ?
(A) Pranav Roy (B) Malini Subramaniam
(C) Punit Tandon (D) Sanjya Baru
027. In which of the following cave architecture is the Vajrapani sculpture found ?
(A) Dhank (B) Uparkot (C) Khambhalida (D) Abu
028. India won 2016 Kabaddi World Cup by defeating which country ?
(A) Pakistan (B) Iran (C) Afghanistan (D) Bangladesh
029. Who has written the novel “Ansar” ?
(A) Dhumketu (B) Gulabdas Broker
(C) Varsha Adalja (D) Niranjan Bhagat
030. “ldam Sarvam” is whose essay-collection ?
(A) Suresh Joshi (B) Vinod Bhatt
(C) Bholabhai Patel (D) Raghuvir Chaudhary
031. In which of the following states the Tropic of Cancer does not pass ?
(A) Mizoram (B) Tripura (C) Chhattisgarh (D) Manipur
APR - A 7 P.T.O.
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032. Vdlellan sl ustett wssiuiedl Holl 2ud 8 2
(A) uBAFA wssl (B) Wacl? ussl

(C) [Agct wssl (D) @l w3 {let

033. o{lAett UHl 58 2cllSlH SUllA Weltell yuH ANe Als AcitA A¥RAUAHL HAUEA
YHIRML 23 s3L B2
(A) A2 (B) Rettaton Blp2ct
(C) AEslal ARIAR (D) 2Lt sfe(l3aed s

034. W solel Aol (lRYloll AdH sl UA B 2
(A) oyl (B) 01y (C) 3"yLL (D) ([Qwgryaat

035. sleSeUls 2l 2otoll 2lAE Rl Sl ASRAo{l <A Al el ?

(A) Jo8- ysll (B) (2c8l- vueLalE

(C) Regl- yus (D) Redl- SR
036. Yyeclloll UR@HELe(l atlda alfd vl 53 8.

(A) WRs (B) Qs (C) aulls (D) wsadls
037. sl gatoll UMl eUselol ool & 2

(A) oflctolldl (B) sliam (C) Als (D) flun

038. cacll 2@lell-2011 WHIQL YAt A%AMUL §&t clacllott B2l 25t 2B crell B 2
(A) 57.4% (B) 48% (C) 42.6% (D) 52%

039. U\l 9 B2
(A) Ulsdls Als (B) wucAldlclls Afls (C) AQdls AAls (D) Gurell Ul 818 o8l

040. olAott U4l 56 s112j2R0{l eunl otell 2

(A) C++ (B) UNIX (C) JAVA (D) BURell dHIH
041. $%9oll $IRAN (AclR Fell USIRell UsSl URNA B ?

(A) WelR (B) uGASA (C) ¥clAbld (D) [@Qgd
042. 58 A ol€lall cdAell [ArclR “AAAR” 313 o B 2

(A) A2l U uel (B) olEL A Bl3R

(C) s Blal ALGRH AL (D) UGRHUAL ua 581

043. ollgt A Bot tloll 8lc2Qll ealadl aisell sl ool sl EPectml wAc] & 2
(A) 5% (B) ellola (C) A¥812 (D) weRsisl
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032. Petroleum is found in which type of rocks ?
(A) Igneous rocks (B) Sedimentary rocks
(C) Metamorphic rocks (D) Marshy land
033. Which of the following telecom companies has started its first payment bank services in
Rajasthan in a limited scale ?
(A) Airtel (B) Reliance Digital
(C) Idia Cellular (D) Tata Communications Limited
034. Alaknand and Bhagirathi make confluence at
(A) Dev Prayag (B) Karan Prayag (C) Rudra Prayag (D) Vishnu Prayag
035. Talgo the high speed train trial run was conducted between which cities ?
(A) Mumbai—Pune (B) Delhi—Ahmedabad
(C) Delhi—Mumbai (D) Delhi—Indore
036. The motion of rotation of the earth is also known as motion.
(A) Monthly (B) Daily (C) Yearly (D) Weekly
037. From the juice of which tree is Turpentine made ?
(A) Eucalyptus (B) Acacia (C) Pines (D) Germplasm
038. According to Census-2011, what is the percentage of urban population of total population
in Gujarat ?
(A) 57.4% (B) 48% (C) 42.6% (D) 52%
039. What is Vinegar ?
(A) Picric acid (B) Alcoholic acid (C) Acetic acid (D) None of the above
040. Which of the following is not a computer language ?
(A) C++ (B) UNIX (C) JAVA (D) All of the above
041. The hilly region of Kutch contains which type of rocks ?
(A) Sedimentary (B) Igneous (C) Aqueous (D) Metamorphic
042. The area between which two rivers is known as “Charotar” ?
(A) Shedhi and Mahi (B) Narmada and Dhadhar
(C) Vatrak and Sabarmati (D) Sabarmati and Kanthi
043. In which district are the caves of Dhank having carvings of Buddist and Jain religions
located ?
(A) Kutch (B) Junagadh (C) Rajkot (D) Sabarkantha
APR - A 9 P.T.O.
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044.

045.

046.

047.

048.

049.

050.

051.

052.

053.

ARl URBReAl e Biz WBse o(lAott Ul 56 35Ul A steletm Al Y3l wisal
Aol B 2

(A) G2G QA (B) G2C AcuzAl (C) G2BAczll (D) B2C AarAl
el o€l UR HEAULAHL 58 Aol wAcll B 2
(A) oEIRUPR Al%ail (B) MREIR AR Aol
(C) Qetololl A1%eil (D) AHUWLR Al%ail
o{lAetl sl 2002 A AL wA [Aseu urie s2A.
oy AYscl Aol 5L WfAUIR
a) 2014 i) (At W2 251G (sustainable) Yclldote] WidAFA ]
b) 2015 ii) Ustal Al Ystal WU 2sellcle] AidAlA
c) 2016 iii) $8l0we] BicAF A cy
d) 2017 iv) &0l Wcllo] il ol
(A) a—iv, b—ii, c—ii,d—i (B) a—i, b—ii, c—iii,d—iv
(C) a—ii,b—1i, c—iii,d—iv (D) a—iii, b—ii,c—i,d—iv

elRdell LA A dloll 3941 Gsigiii (PSLV-C37) cllRetotl & aloll GUasell ALl
e 101 Al GUIAS SUl-5ll E2ell &cll ?

(A) 5BL82cllol, ERASE, AUALS, 2c/leBcos, .36, AU,

(B) 8AATE, AuAes, rcllendos, Y A6, Y AU, Hulel, 5l

(C) wllensdes, 3 A.6., AU, WUlel, 5loi, Y.5.

(D) YAE., Y AU, WUlel, 5o, Y 5., SRLA

el oetel-2011 vefUR elRclMl (Aot Ul sell A%2AML €25t A 1A cixcll
qgf&-€2 ol B2

(A) «lLUAS (B) %0 (C) opesLel (D) HSR
@Rl ol Aot USL 57 A% HoLgo{lol Alell el Geuwes 8 2

(A) uiyugal (B) HelRAR (C) 9%fUct (D) sodes
Wyg wellell At qAdRa sl sttHel ol 2ud 8 2

(A) doua (B) slrtRl (C) ad|et (D) wusl
%l HEAVY oll 8ls ICBTZ 82l dl QUICK ol 8ls ¢ &2

(A) OSJAL (B) QRJAL (C) RSJBL (D) GuRell U8l A8 o1&l
B CxQ=51,FxS=114UA SxC=578A Al QxF="?

(A) 96 (B) 78 (C) 102 (D) 114

ol o : MR 8lal, Al ol Aol Usl 52f WY B 2

(A) €€l : ecllulle] (B) a8l : el

(C) GUs : slRullq] (D) (en : g
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044. The e Biz project of the Government of India is about providing which of the following fast
and efficient services ?

(A) G2G services (B) G2C services (C) G2B services (D) B2C services

045. Which is the project on Narmada river in Madhya Pradesh ?

(A) Narmada Sagar Project (B) Sardar Sarovar Project
(C) Venganga Project (D) Ram Sagar Project
046. Match the following and select the correct option :
Year According to the Resolution of United Nations
a) 2014 i) International year of sustainable tourism for development
b) 2015 ii) International year of light and light-based technologies
c) 2016 i) International year of pulses
d) 2017 iv) International year of family farming
(A) a—iv, b—ii, c—iii,d—i (B) a—i, b—ii,c—iii,d—iv
(C) a—ii,b—i,c—iii,d—iv (D) a—iii, b—ii,c—i,d—iv

047. India’s PSLV in its 39t flight (PSLV-C37) launched two Indian Nano satellites along with
101 co-passenger satellites of which countries ?

(A) Kazakhstan, Israel, The Netherlands, Switzerland, UAE, USA
(B) Israel, The Netherlands, Switzerland, UAE, USA, Japan, France
(C) Switzerland, UAE, USA, Japan, France, UK

(D) UAE, USA, Japan, France, UK, Egypt

048. Which among the following States in India has registered lowest decadal population growth
rate according to 2011 Census ?

(A) Nagaland (B) Kerala (C) Guijarat (D) Maharashtra
049. Which of the following States is the largest producer of groundnut in India ?

(A) Andhra Pradesh (B) Maharashtra (C) Guijarat (D) Karnataka
050. By what name is the lake created by sea-water known ?

(A) Lake (B) Weir (C) Lagoon (D) Bay
051. If the code of HEAVY is ICBTZ, what is the code of QUICK ?

(A) OSJAL (B) QRJAL (C) RSJBL (D) None of the above
052. fCxQ=51, Fx S=114andS x C=57,thenQ x F="?

(A) 96 (B) 78 (C) 102 (D) 114
053. If GRAIN : FIELD, then which of the following is correct ?

(A) PATIENT : HOSPITAL (B) CHILDREN : SCHOOL

(C) STEEL : WORKSHOP (D) MOVIE : PICTURE

APR - A 11 P.T.O.
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054. 8 cAERA A, B, C, D, E 3al F ddnusik Gell 8. D e Coll cd2A B 8. E A4 C «ll

ARA A D. D oll w1 F ®. A 3ol F oll a2 sla 8 2
(A) B (B) E (C) C (D) F

055. B,D,G, I, L,N, _?

(A) O (B) Q (C) S (D) U

056. 1,5,11,19,29, ?
(A) 45 (B) 39 (C) 41 (D) 47

057. Poll WA B®. QE ol Astiot WA 8. B D oll Uwll B ol P oll Ay B. Bol DA

all Aoiu B ?

(A) Rcd (B) s (C) s (D) e=(lol
058. X,U,S,P,N,K, I, _?

(A) F (B) J (C) M (D) K

059. 3,7,15,31,63,_2
(A) 67 (B) 83 (C) 127 (D) 126

060. ol udcll wsloR AR ala Al Ul oldrnR sl clk 6 ?
(A) AHaAR (B) MalnaR (C) AR (D) gucllR
061. 46 Reaellodett adol di A Aoxaell s1 12 10 At A deAl Aol M sell U 2
(A) 33 (B) 34 (C) 35 (D) 36

062. SleHl As 232l cxcll 1,80,000 B. % Aell cacll €2 a¥ 10% =it €2 atcdl 8l dl
2 oy ugdl Aol arcll 3ecll a2

(A) 2,07,800 (B) 2,17,800 (C) 2,27,800 (D) 2,37,800

063. As SR 1 AFsHL 10 Hlere] iR 51U B, Al doll Bsu (Bel-lesscus ol €2 ¢ A2

(A) 40 (3. (B) 32 (.4l (C) 48 (3. (D) 36 (3.3
064. 3:25,4:34,5:43,6:52,7: 2
(A) 42 (B) 44 (C) 59 (D) 61

065. RAH Aell UIReAL 40% VIS, 20% HRES, 10% Hell3woel, ulal 10% clgal Gu W

B, ol Hlott 2 Aell ®AuA 21,500 &l dl dsll RS wouR d2el 83 7
(A) 8,000 (B) 7,500 (C) 6,000 (D) 10,000
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054. Six persons A, B, C, D, E and F are standing in a circle. B is between D and C. A is
between E and C. F is to the right of D. Who is between A and F ?
(A) B (B) E (C) C (D) F

055. B,D,G, I, L,N,_?
(A) O (B) Q (C) S (D) U

056. 1,5,11,19,29, ?
(A) 45 (B) 39 (C) M1 (D) 47

057. B is the husband of P. Q is the only grandson of E, who is the wife of D and mother-in-law
of P. How is B related to D ?
(A) Cousin (B) Son (C) Son-in-law (D) Nephew

058. X,U,S,P,N,K,I,
(A) F (B) J (C) M (D) K

059. 3,7,15,31,63,_?
(A) 67 (B) 83 (C) 127 (D) 126

060. If 15tOctober is Sunday, then 15t November will be
(A) Monday (B) Tuesday (C) Thursday (D) Wednesday

061. Inthe class of 46 students if the rank of Tejas is 12th, what would be his rank from the last ?
(A) 33 (B) 34 (C) 35 (D) 36

062. The present population of a city is 1,80,000, if it increases at the rate of 10% per annum, its
population after 2 years would be
(A) 2,07,800 (B) 2,17,800 (C) 2,27,800 (D) 2,37,800

063. A car covers the distance of 10 meters in 1 second. What would be its speed at the rate of
kilometer/hour ?
(A) 40 km (B) 32 km (C) 48 km (D) 36 km

064. 3:25,4:34,5:43,6:52,7: 7
(A) 42 (B) 44 (C) 59 (D) 61

065. Ram spends 40% of his salary on food, 20% on house rent, 10% on entertainment and 10%
on conveyance. If his savings at the end of the month are Rs. 1,500, then his salary per
month is Rs.
(A) 8,000 (B) 7,500 (C) 6,000 (D) 10,000
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066.

(o2}

067.

068.

069.

070.

071.

072.

073.

074.

075.

076.

077.

A suSeul stglells Ads sl Reid Yool sl s2 82

(A) uRefdloll Rgid (B) uesclsll Raid

(C) uFlElnell Rgict (D) Gyl A4l A ol

ANl sl UELL B ¥ % 25ctal 25cleltldollul oisle wct w2sd &2

(A) Buwilet (B) Brllocil(elet (C) agSAsllot (D) Wudla

ol Aot USL ggf uAuWl atell 2

(A) % (B) 193 (C) Rs (D) wll

(LAl U4l 5 RDX of o{loy otimt B 2

(A) AUl (B) d&glet (C) UAASISSot (D) AASEA353lol

AYSel ARAYU 6l 2014-2024 A Ul ELASL A MER UMl wlicR] B 2

(A) Hleil 112 251G (sustainable) Glxisll 118l

(B) 2518 (sustainable) Qs w2 Rlawatsll sl
(C) gecll Ul watst Mall vicAEla erasl
(D)

D) Htetel w(slz Qe nizell elas

CCUELE uQ 52 .

(A) 35at (B) allet (C) SI862 3l (D) ettatclst
HTTP o] Yl 2ei3u g 872

(A) Hyper Text Top Protocol (B) High Text Top Protocol

(C) Hyper Text Transfer Protocol (D) Gurell 14l 81 «18l
AAAY A 32018l2 U} dlUMlel Y dlclld 87

(A) 30° (B) 40° (C) 50° (D) 60°
ollAetl Ul sl clecle] Hloteloll URAAUMNL Getofot 2 & 2

(A) UEHR (B) cluis (C) slolet (D) AR
s1R Uletsell uclHcll Hi2oll AR-Qor 1l gl cly & B2

(A) Alsau ARSs (B) ABan ciasollale

(C) ABaH iz (D) WBau WA

ollAotl VA sl 2aual “slolel ANIct” 2ol dAdld nd scunl vicll § 2

(A) WEUAS (B) fet@as (C) HSLoURSR (D) @cllet

20016l wauHelut 2011 ol cdl ol yorel ot el olludiul 3zl

a2l gl &2
(A) 09.38% (B) 19.38% (C) 29.38% (D) 39.38%
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066. In which principle does the hydraulic break work in automobiles ?
(A) Bernoulli’'s Principle (B) Pascal’s Principle
(C) Archimede’s Principle (D) None of the above

067. Which is the substance that prevents clotting of blood in blood vessels ?
(A) Heparin (B) Hemoglobin (C) Thyroxin (D) Pespin

068. Which of the following is not a parasite ?
(A) Louse (B) Mosquito (C) Tick (D) Housefly

069. Which of the following is another name of RDX ?
(A) Cyclonite (B) Dextran (C) Cyanohydrin (D) Cyclohexane

070. 2014-2024 has been declared by the United Nations as which decade ?
(A) Decade of sustainable energy for all
(B) Decade of education for sustainable development
(C) International decade for Natural Disaster Reduction
(D) Decade for Human Rights Education

071. Artificial silk is also called as

(A) Decron (B) Rayon (C) Fiber Glass (D) Nylon
072. What is the full form of HTTP ?

(A) Hyper Text Top Protocol (B) High Text Top Protocol

(C) Hyper Text Transfer Protocol (D) None of the above

0783. Celsius and Fahrenheit show the same temperature at

(A) 30° (B) 40° (C) 50° (D) 60°
074. Which of the following elements is excreted through human sweat ?

(A) Sulphur (B) Iron (C) Carbon (D) Ammonia
075. What does airbag used for safety of car driver contain ?

(A) Sodium Azide (B) SodiumBicarbonate

(C) Sodium Nitrite (D) Sodium Peroxide

076. Which of the following countries is declared as “Carbon negative country” ?
(A) Iceland (B) Greenland (C) Madagascar (D) Bhutan

077. What is the increase in the population density of Gujarat in comparison to 2001 according
to the 2011 census ?

(A) 09.38% (B) 19.38% (C) 29.38% (D) 39.38%
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078. «{lActl UH 50l AZoUcAAsR GUdlE B ?

(A) GSAT-18 (B) RESOURCE SAT-2A
(C) INSAT-3DR (D) CARTOSAT-2

079. ulclslalauolal ollel Aalslel sl R0Ue] Ewia & 2
(A) ol (B) uie (C) sl (D) 3udl

080. Ml Sletailell yoall Al o{lAett ALl el Aot U sletrtoll vuglett sHELR

Adedellet 8o &7
(A) oylslellallln (B) RRAR™

(C) &L A3l (D) Ncoyls\RA™

081. ellRcloll crcllatatall wmd), 2891 clrltsc 2 8lg % A,

1) W@ AG.H. Qrcunl 400 culsllell crdlolluet
2) el WY 5000 Al crdl s€

)
3) stloitell UL AL 75% (Aot Wl wgu0uL
4) sio@ell 75% viaal agll ay Yauaol [@ot Wl ugRalul

(A) 85ct (1) 2l (2) (B) §5ct (2) ¥l (3)
(C) 85t (1), (2) ¥\ (4) (D) 85¢t (1), (2) ¥l (3)
082. cltlRQlell 86MI YuiRL (2002) ¢l Aot Qewor-3 1l sl Haeyct wU@sI1R GRAUHL 2l
§cll ?
(A) AMlel oA B Ugcl Slofoll AsLIA (B) @Qawlell u[s12
(C) idlct Welotoll V@SR (D) uestdl 1 sullRA slellcicllall w@s12

083. 20110{l clac{lowgloll yovol o{lAstt WSl seli (RBecuzlle] e A3 creloll esteudl i
ARAL GRcll sHUL B 2
(A) Y, USHELGLE, ASIEA Aol A¥SL2
(B) USHEIGLE, Y, A¥S2 vlal ASIEU
(C) Ycl, ASIERA, WESHELGULE Mol AWSL2
(D) USHEIGLE, YRcl, ASIERA ol AWSL2

084. 2011 ofl clzcllotgioll Y o(1Aott Ul 5 A%t Al ay w350 URAA B 2
(A) 9%l (B) uldx ddum
(C) ot (D) seles

085. 2011 ofl clrellowgoll wad gpstciui o1Aott Udl sell (Becl el A0g 2sds2WL UAA D 2
(A) sial (B) awdl (C) €l8lE (D) el3ieL
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078. Which of the following is a communication satellite ?
(A) GSAT-18 (B) RESOURCE SAT-2A
(C) INSAT-3DR (D) CARTOSAT-2

079. To an astronaut, the outer space appears in which colour ?

(A) Blue (B) White (C) Black (D) Orange
080. Coalmine workers are prone to which of the following disease due to the inhalation of coal
dusts ?
(A) Pneumoconiosis (B) Silicosis
(C) Tuberculosis (D) Anthracosis

081. As per census of India, an urban settlement must have
1) Population density of 400 persons per sg. km area.
2) Population size of 5000 persons.
3) Atleast 75 percent of its working force in non-agricultural activities.
4) 75 percent or more of its male working force in non-agricultural activities.
(A) 1and2only (B) 2 and 3 only
(C) 1,2 and 4 only (D) 1,2 and 3 only

082. By 86! Constitutional Amendment (2002), which Fundamental Right was inserted in Part-3
of the Constitution ?

(A) Equaljustice and free legal aid (B) Right to education
(C) Right to privacy (D) Right to form co-operative societies

083. Which one of the following group of districts is the correct descending order of percentage
of urban population as per 2011 census ?

(A) Surat, Ahmedabad, Vadodara and Rajkot
(B) Ahmedabad, Surat, Rajkot and Vadodara
(C) Surat, Vadodara, Ahmedabad and Rajkot
(D) Ahmedabad, Surat, Vadodara and Rajkot

084. Among the following States which one is more urbanised as per 2011 census ?
(A) Gujarat (B) West Bengal
(C) Punjab (D) Karnataka

085. Which of the following districts of Gujarat is least urbanised as per 2011 census ?
(A) The Dangs (B) Tapi (C) Dahad (D) Narmada
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086. aflssi UL A Sl A [@Ascu uie A

ALEL - | €l - 1l
(deuls/crclowe=l) (LR)
a) AoUA ol 1) ANYLRL
b) AlsteSs QiR 2) glRsl
c) wlellls AsLSs (QArellR 3) Hlsly?
d) otorRuUdst 4) 9A
a b c d
A2 1 3 4
B3 1 4 2
(C)4 3 2 1
D)3 2 1 4

087. CRcl URSIR sl [@AsAtcelkx “@é AA” ofl atélui Aot UL xUclo] 52 AR
ool 2
(A) ellcslolR (B) ¥elola (C) A%¥sle (D) MHA2R

088. CllRcloll 6itllR0Le{l olActt US| 58 €l oWl sl stlloll RUrR AL ScUH

el 2

(A) 8l atel (B) 9l auel (C) 114l auél (D) 124l u€l
089. o{lAotl US|l 56 2Aooll GLcloll olloll Wl HEAH odRloll WidRHIOUISlA Qs GUR

Yucd 3o B ?

(A) AMRUT (B) JNNURM (C) UIDSSMT (D) NUIS

090. o{lAcHiel 56 A Wl & 2
(A) AURS1R-Yy 91 viLstu — cloliofl elcdloll WA yinet e 8.
(B) WAL ustiuat - cltolioll el Weltell e5Hcd 6l&R wcll Ascll 12

(C) BANGL wtsttut — viteto{l As AN % Uil A B,
(D) o€l ucuallsul vilsttust — 1oL vitetd{l westaedl AR o Yiied Al 8.

091. “PURA” lxelt/(QulRe] o(lAoit Ul AQ YUt 5 &d 2

(A) A ofl. curws (B) A UL B. UEASEH
(C) Hotleet Rls (D) velel yuesl

092. JYUEUL Aol AHLAA WA B2
(A) dd g (B) ol oJe A Bt
(C) ol 2p e Aguld (D) clsuell
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086.

087.

088.

089.

090.

091.

092.

Match the column correctly and select the right option :

List -1 List-1I
(Statutory/Census) (Town)
a) Census town 1) Saputara
b) Notified area 2) Dwarka
¢) Industrial notified area 3) Mithapur
d) Municipality 4) Chhatral
a b ¢ d
(A) 2 1 3 4
B) 3 1 4 2
(C)4 8 2 1
(D)3 2 1 4

Which one of the following cities of Gujarat is not in the list of “Smart Cities” to be developed
by Government of India ?

(A) Bhavnagar (B) Junagadh (C) Rajkot (D) Jamnagar

Which of the following Schedules of Indian Constitution specifies the functions of
Municipalities ?
(A) 8t Schedule (B) 9t Schedule (C) 11th Schedule (D) 12th Schedule

Which one of the following programmes mainly focuses on the infrastructure development
of small and medium towns of India ?

(A) AMRUT (B) JNNURM (C) UIDSSMT (D) NUIS

Which of the following pair is correct ?

(A) Writ of Quo Warranto — Available against subordinate Courts only
(B) Writ of Prohibition — Available to prevent interior Court from exceeding its jurisdiction
(C) Writ of Certiorari — Available against autonomous bodies only
(D) Writ of Habeas Corpus — Available against private confinement only

Who among the following suggested the scheme/idea of “PURA” ?
(A) A.B. Vajpayee (B) A.P.J. Abdul Kalam
(C) Manmohan Singh (D) Pranav Mukherjee

What is consisted in the Parliament ?
(A) Both the Houses (B) Both the Houses and Chairman
(C) Both the Houses and the President (D) House of People
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093.

094.

095.

096.

097.

098.

099.

100.

101.

A2ell wolclell 8lEl Ukl sclloll Yed 32cll B2
(A) 5ay w2 (B) ol yeull aa i Yl
(C) gulsll 1 Yl (D) 10 i W2

AUl SlSURL Ioll AA65 Ul M2 GURcloll GLUIREL WfUR SR g 8lg AU 2

(A) ojgell et de2lloll /5 euoL

(B) ojgell &t el '/, @Ol

(C) ojgell gei uelall /5 cuot

(D) ojgell gt ueall /4o @l

AR USReAL AT Qs Holle sl 132 sclMi A HRIDAY l%weltii o Aol
Ul o%RUclo] 52 AR URAE sl wlcR] B ?

(A) grsl (B) iou» (C) wellcau (D) Axouu

Aueoll dlos A 8l AR AU 5 cd2gsH SR UUBIRSAAL YHLA B ?

(A) 6 H3elleoll i (B) 6 uscllallell i
(C) 3 uldalloll i (D) 3 uscuslalett via

AR ARUL ekl (832 oll§ BCCI ol uR ueAlell agladl el ast ddld [Rysd
2Acl [Qalle A2 UG el SlEL GUR WL Ygau B 2

(A) udlRU WELEA doll c2ALALENIL (B) a$l AUELdoll cAtaLtlaL
(C) CRclell AR AR (32 Aol (D) eiRetoll A2 wotrcd

GLElLRELell W WD E 29(1) cdld GlRdoll SE Ul sIRsa 58 (ARl sl
Autcllell RS UL A B 2

(A) 3@, QR e sld” (B) “eu™l, QM wuual Reux”

(C) “euntt, (AR waay dgld” (D) {AM, sl uaal wi”

ol ducn{la Alogollofl )6 Ut WA Slof oili AsoUA & 2

(A) AN, AU eu{lstiest B) Ul fl. Hsleisl [Clu

(C) &As -HR (D) Axg™L

el HdelRell uidtell GuR aoltelelml Atadl wRA wdlui s gL A D 2
(A) AR ocyy (B) leaR a3

(C) ABau AAsULs (D) [FelesAcllot

ellRdoll yar e (Quldaucaetl 2us sl edl ?
(A) RAoll Ao (B) flze? «llaelat (C) 4l.3. sd (D) AQosmettat 21902
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093. Attorney General shall hold office
(A) For aterm of 5 years (B) Upto the next election
(C) During the pleasure of the President (D) For a term of 10 years
094. To constitute a meeting of either House of Parliament, the Constitution of India provides for
the Quorum of
(A) 1/5th of the total number of members of the House
(B) 1/4th of the total number of members of the House
(C) 2/3"of the total number of members of the House
(D) 1/10t of the total number of members of the House
095. Which of the following cities of Gujarat has been selected under the HRIDAY Scheme
declared by the Urban Development Ministry of Government of India ?
(A) Dwarka (B) Ambaji (C) Palitana (D) Somnath
096. During the session of the, an ordinance promulgated by the President shall cease to operate
(A) atthe expiration of 6 months (B) at the expiration of 6 weeks
(C) at the expiration of 3 months (D) at the expiration of 3 weeks
097. Vinod Rai, recently appointed as the head of a four member team of administrators of Indian
Cricket Board BCCI has been formerly on which post ?
(A) Judge of Supreme Court (B) Judge of High Court
(C) Comptroller and Auditor General of India (D) Solicitor General of India
098. Any citizen of India, under Article 29(1) of the Constitution shall have right to conserve
which distinct ?
(A) “Custom, ritual or culture” (B) “Language, ritual or custom”
(C) “Language, script or culture” (D) “Script, culture or religion”
099. Whose name is associated with the strategy of 2"d Five Year Plan ?
(A) M.S. Swaminathan (B) P.C. Mahalanobis
(C) Harrod-Domar (D) Raj Krishna
100. Which chemical is there in the indeligible ink applied to the voter’s finger during election ?
(A) methylene blue (B) silver nitrate
(C) sodium paroxide (D) phenolphthalein
101. Who was the founder of India’s first Women’s University ?
(A) Annie Besant (B) Sister Nivedita (C) D. K. Karve (D) Rabindranath Tagore
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102.

108.

104.

105.

106.

107.

108.

109.

110.

GURcloll GLtURBLoll UGDE 16(4) 3601 A2 & AULNe{l sllotcdMi win
ollHcloll Rotae sell col 12 53l ad 82
(A) o UBLA cdlell LIRS 1R

(B) YR A dal vogyRet wotnld w2
(C) YRt MQ, AAYRA ot el AURs wA Aa@s AA ustd w8l w2
(

D) ALU®s dat 2u@s A ustd «wlR 12

well2 WSl ol oJfloll UYscl Assul 7 sl WA B, AR A decll cgudlel
YAR $cl ud?

(A) 8l%2 WA HdElol 5olR UeAoll 3/4 ugucllell

(B) 8% ol HclElol s01R UeAlo(l el ogucllell

(C) 9 ell 2/3 sgnucllell

(D) ojlell R2Ua sigucll

GlRdell A U@ Q¢ HerUAUA sl sl 23 53l a2

(A) g5cl cllsuell (B) $5cl A>AAECL

(C) duEal Auigll 8le As )8 (D) 818 uel Quietuew

BESIOUE WAl e Auie] AL 520l1R Ax5(A Aot TH SO &cti 2

(A) Ae w2 (B) sRAwl (C) si@eln (D) AFAUR
ellRcloll AR AU “x132 AL WA AWl oll YULA 58 A€l U0 & 2

(A) 2 A€l (B) du atél (C) dysd AEl (D) Guell U4l A &l
€35 cllsAcl RNl st ot sell Avallell uell, £33 Wcllell g sell AWRR
MRcl URBR 3601 Al A AUl USSR d601 VYLK e ad Yl &lgel
yrcal &l AU,

(A) 07 (B) 05 (C) 03 (D) 10

Sloll Roiclell ccctetenss WA oRSlell uuLse(l vdlallell Aaltoll Anld 2l ?
(A) atitlle (B) §cReUES

(C) Qgcteuss (D) A28 HslR

Ulslotl AcLLsell B clioll wostid daAnell uuss oe S1Q Aeudll 2

(A) HlgolGllel usal (B) odlciAH €4

(C) WAL= stlaag (D) Hsliclels tUE

ARl A€, AU ALE], At ALEL B AYscl A€ol Qotcdl oluiRetell 58 YR B 2
(A) Q. (B) uiuHl (C) Al (D) otatdll
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102. For which class, the State shall provide, special reservation in public employment under
Article 16(4) ?

(A) for other backward class citizens

(B) for scheduled caste and scheduled tribes

(C) for scheduled caste, scheduled tribes and socially and educationally backward class citizens
(D) for socially and economically backward citizens

103. By what majority has to be a bill passed when it is presented in the joint sitting of both the
houses ?

(A) Three-fourths majority of members present and voting
(B) A simple majority of members present and voting

(C) Two-third majority of houses

(D) Absolute majority of the houses

104. Who can initiate impeachment proceedings against the President of India ?
(A) Only Lok Sabha (B) Only Rajya Sabha
(C) Either house of Parliament (D) Any Legislative Assembly

105. Who among the poet laureate inscribed on pillar near Allahabad ?
(A) Chand Barot (B) Harishena (C) Kalidas (D) Rajshekhar

106. “Public health and sanitation” is included in which list of the Constitution of India ?
(A) State list (B) Union list (C) Concurrent list (D) None of the above

107. As nearly as may be one half of the members of every Public Service Commission shall be
persons who at the dates of their respective appointments have held office for at least
years either under the Government of India or under the Government of a State.

(A) 07 (B) 05 (C) 03 (D) 10

108. On whose request did Vallabhbhai Patel gave consent to lead the Bardoli Satyagrah ?
(A) Gandhiji (B) Kunvarjibhai
(C) Vitthalbhai (D) Ravishankar Maharaj

109. Who took over the leadership of Salt Satyagrah after the arrest of Abbas Tyabji ?
(A) Mohanlal Pandya (B) Jugatram Dave
(C) Sarojini Naidu (D) Mahadevbhai Desai

110. The details of three lists, State list, Union list and Concurrent list have been mentioned in
which schedule of the Constitution ?

(A) Fourth (B) Fifth (C) Seventh (D) Ninth
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111, clsyeuMl “gol sloell” Heti AMAU 32cll 8l & ?

(A) As SCls (B) 30 M2 (C) ad 53 «tell (D) 90 M2
112. %1y al s19{lRe(l UtllaR eudl 56 8 2
(A) staldl (B) G (C) o€l (D) Sotdl
113, ollAetl U5l Sl UgYRct A (Aotl A2 RN Uy WU UUE UHA Y3 53D 2
(A) AHIEES oAl Sodla 3ol (B) ¥odlat oA{laisc
(C) elRctoll Ul (D) 3odlat oj&3ioll

114, UYScl AZAL GIRAL oAAIR 2017HL SUTAL Ao Slo§RoA COP 23 gl UG Aol & 2
(A) 2l (B) ollof (C) WRx (D) 33|

115, AWAULEA ClURQoll Sl o WE ol cl2gsH 6l Wl ud?
(A) o BDE — 161 (B) UojWE— 163 (C) AUfWE—166 (D) WofWE—213

116. CllsUECUoll ASURL Aol ULHeAl ol S0l CllRclell clSUtlol SlQL &cll ?
(A) ureRle Alusl (B) 2Agduiz
(C) A $l. tadllst (D) . 3. oA

117. 9Acloll ABI clRelMl AAUI WBRAL €2 32l B 2
(A) 66.31% (B) 76.31% (C) 86.31% (D) 96.31%

118. AlsWE U SIS SIRLEL 2013 ellRel giRl Aol vuucidl WA o Asu U4l 56
AR yorol uscul 2itcll B2 |
(A) Yol Ao Sooflol Bllol §Hol BocllA N2

(B) YollgF2s Ao Solatlol WA 5140l

(C) Yoll82s Ao Sodloflol VG GHol ATIU
(D) YolleS2S Ao Sododlol VASR2 SILBH

119, cAlstysc AL A sRaAEUl ypue s3l 4d o8l ® sRatesll woual

(A) sRaleq] siaL G 4Al 3 aell ay sla
(B) sRaleq] sial Gaf uAell 5 axell ay da
(C) sRaeq] 20l Gof aAell 7 aall ay sl

(D) sRateq] st2el Goj adell 10 axlell ay &l

120. Ay cit0lell AejBE 30 Aal@ls Areull Ul A Asll aglae s2ellsll
AESR WA D Aoll kR
(A) @ ua drgld B (B) wal ua eurt &
(C) sl ua eunt B (D) wi A nld B
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111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

What is the maximum duration of zero hour in Lok Sabha ?
(A) One hour (B) 30 minutes (C) Unspecified (D) 90 minutes

Which is the official language of Jammu and Kashmir ?
(A) Kashmiri (B) Urdu (C) Hindi (D) Dogri

Who of the following places the annual report of the National Commission for SCS before
the Parliament ?

(A) Union Minister for Social Justice (B) Union Cabinet
(C) President of India (D) Union Home Minister

Where would be the climate change conference COP 23 held by United Nations in November
20177

(A) Kyoto (B) Bonn (C) Paris (D) Hague

Under which Article of the Constitution can the Governor promulgate an ordinance ?

(A) Article 161 (B) Article 163 (C) Article 166 (D) Article 213

Who was the Indian Prime Minister who never faced even a single session of Lok Sabha ?
(A) Charan Singh Chaudari (B) Chandrasekhar

(C) H. D. Devegauda (D) I. K. Gujaral

What is the average literacy rate in the urban population of Gujarat ?
(A) 66.31% (B) 76.31% (C) 86.31% (D) 96.31%

The Lokpal and Lokayukts Act, 2013 has been enacted pursuant to the rectification given
by India in which of the following conventions ?

(A) United Nations Convention on Human Environment
(B) United Nations Convention against Corruption

(C) United Nations Convention of Human Rights

(D) United Nations Convention against Terrorism

The Lokayukta Aayog shall not inquire into any complaint, if it is made after the period of
(A) 3 years from the cause of complaint

(B) 5 years from the cause of complaint

(C) 7 years from the cause of complaint

(D) 10 years from the cause of complaint

Article 30 of the Constitution gives right to establish and administer educational institutions
to the minorities based on

(A) Religion and culture (B) Religion and language
(C) Culture and language (D) Religion and caste
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121. G cAlALEA Aol oA Al ollHiclal cllas Sl waudl clds st dla ddl
cA5Aloll UGl USSR S Al WA A Rcta, Rlars westldell slRLEL vicold
ULl cABAA dectl yHaALl dy westaAcdMl AW ASLA oigl ?

(A) 6ulell (B) 1 1Rl (C) 24 scus (D) 3 uldsu
122, olouuAHL Sloll yHLA 8la B 2

(A) sl v A WA el (B) uitatat vl AR oA YeAl

(C) kel ol ARl VoA YeAl (D) utarel wal WA o ueA

123. AR ANUQ  UdEell olal ISloll AYscl Aos Glelld & R doll Ut 59 §la B 2
(A) egul (B) Gureuld (C) als? (D) wtitet3ioll

124, Sloll GEHEL Hosol A%RNN Fost 5-llclsoll B0 HA B 2

(A) A%t U (B) olgu U (C) ol uNoL (D) ¥om URBSIR
125. Hals claloll WAAML YRUclo] UleldlR 5 &cf ?

(A) seliadl (B) weel (C) ReyR (D) acell

126. o{lAell USl sl Aotell “Bontlof™” Malot 601 AMLAY Ucll otell 2
(A) wiAl (B) Wellan (C) el8ol 5¢ (D) &

127. “UlBse URASH” oll Yuy GRA Y B2
(A) U6 Grir-yclal A%DHL AU Ry
(B) RUSUAHL auRdte] [Reue
(C) Grir-ycllat A% cloWciot A8
(D) GuRell USl 818 ol

128. “Ulgellall” o{lAstt ULl 56 U WA AsouAG B 2

(A) QRasx (B) &4 (C) Bwdlse (D) 206l
129. «clloseflal UHSR W llst UAAD Uletolls” Ubeetl scl@\of oltmt g & 2

(A) Hlrlous (B) (cusllous (C) aaleus (D) sl
130. o(lAotl UL 59 &R Y3nloll AL caed sU 20180{l Aol 5292

(A) otcll (el (B) 3alolle (C) dlogR (D) @cla?
131. %el-2016H1 56 ULUARA otcll Qe oA GUR Weltoll WBclct YUl sA B 2

(A) 8 AY R Youglay Al (B) ¥ Sl uR(A

(C) ustal xAds: uEUA (D) els ectalss R (Q
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121. Unless the Advisory Board, consisting of persons who are, or have been, or are qualified to
be appointed as, Judges of High Court, so authorizes, no person shall be detained under
Preventive Detention Law for more than

(A) 6 months (B) 1 month (C) 24 hours (D) 3 months
122. Finance Commission shall consist of

(A) Chairman and 2 other members (B) Chairman and 4 other members

(C) Chairman and 3 other members (D) Chairman and 5 other members

123. Who presides the joint sitting of both the Houses of Parliament when summoned by President

of India ?
(A) President (B) Vice-President
(C) Speaker (D) Prime Minister
124. Upon whose recommendations do the States get a share from revenues of the Centre ?
(A) Planning Commission (B) Finance Commission
(C) NITI Ayog (D) Central Government

125. Which was the capital of Gujarat in the reign of Maitrak dynasty ?
(A) Karnavati (B) Patan (C) Siddhpur (D) Vallabhi

126. Which of the following diseases is not covered under “Indradhanush” mission ?
(A) Whooping cough (B) Polio (C) Swine Flue (D) Tuberculosis

127. What is the main objective of “Project Sunrise” ?
(A) Prevention of AIDS in the Eight North-Eastern States
(B) Prevention of Tuberculosis in slums
(C) Protection of wildlife in North-Eastern States
(D) None of the above

128. “Produnova’” is related to which of the following games ?

(A) Billiards (B) Hockey (C) Gymnastics (D) Rugby
129. What is the name of the poetess of the line “Vijline chamkare motida parovo panbai” ?

(A) Mirabai (B) Diwalibai (C) Gavribai (D) Gangasati
130. Which of the following cities would host the Men’s Hockey World Cup 2018 ?

(A) New Delhi (B) Hyderabad (C) Bengaluru (D) Bhubaneswar
131. Which Committee has submitted its report on new Education Policy in June 2016 ?

(A) T.S.R. Subramanian Committee (B) Smriti Irani Committee

(C) Prakash Javdekar Committee (D) Ashok Dalwai Committee
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

o(lQAotl UGl sall (ML Rl URSR ewRcllal 3l vaycuat 53 &q 2

(A) 1966 v 1991 (B) 1980 ¥lal 1992

(C) 1995 sl 2000 (D) 1978 ol 2016

ay 2015 HI2ell ELELUEH SLAd WS Slal Aell2Acd SACUML el & 2
(A) AR sY (B) e wYel

(C) uien (D) HollwgHIR

@R gReR” ol vl Slal wicel ?

(A) UL Al Hstetl@u (B) A5

(C) An. A 2etH{lottet (D) An. Ax. auejanclla
306 USLRell BELW UL UIIR Wenall Wl ].

(A) H3Yell wAd (B) {3l wl

(C) iz Wl w3l (D) GuRell Ul 818 ol

A vatiag-ll A decl (5.:{lof vid du B2
(A) 1396 (B) 122(3.1. (C) 1113 (D) 211 (3.3

ARAML oY 2015-16 €1Ulel AR Folcllell €2 CPI (Aurnel crcullolt Brd yus
Uls) AR S2cl &cl ?

(A) 7.9% (B) 3% (C) 4.9% (D) 6%
AR AR 53 2lAdgl sl 1924 e 9.

(A) Qe @dtd sRale (B) Wl @old sRae

(C) alred &L sRAE (D) Wl cdlct lRauLe

Ay 80129 Geuleotoll o1goll scll W2 A5ER U028 Geutestuigll Sloll sueousl
sl ud 2

(A) AcyEst (B) utadl adl vl was
(C) UsscA AL (D) ucAls)
Wagls vuds A2
A5 Al wlas AWSER UWILY GeUlEql

(A) (B) :

se cldll set ciell
©) Auadl Axdla s (D) Alvy] 129128 Geulgst

set ardl set axdl

GLERRIHL 741 YU Aocl Sl BBV EHL ARUUASIA tlitdcis(l SloLaiefull
@GRl w2
(A) BPAE — 241 (B) UPBE—242  (C) WUYWE—243 (D) WUPWDE — 245
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

In which of the following two years did Government of India devalue the Indian rupee ?

(A) 1966 and 1991 (B) 1980 and 1992

(C) 1995 and 2000 (D) 1978 and 2016

Who has been conferred with the Dada Saheb Phalke Award for the year 2015 ?
(A) Shashi Kapoor (B) Allu Arjun

(C) Dharmendra (D) Manoj Kumar

Who coined the term “Hindu Growth Rate” ?

(A) P.C. Mahalanobis (B) Raj Krishna

(C) M. S. Swaminathan (D) M. S. Ahluwalia
Salaries constitute of the Central Government’s budget.
(A) Revenue Expenditure (B) Capital Expenditure
(C) Expenditure on grants (D) None of the above

What is the distance in kms between two latitudes ?
(A) 139 kms (B) 122 kms (C) 111 kms (D) 211 kms

What was India’s average inflation rate on CPI (Consumer Price Index) for the year 2015-16 ?

(A) 7.9% (B) 3% (C) 4.9% (D) 6%
Government has launched 1924 as toll free number for

(A) Postal Complaints (B) Agricultural Complaints
(C) Health Complaints (D) Cleanliness Complaints

What should be deducted from GDP to calculate NDP ?
(A) Depreciation (B) Net Income from abroad
(C) Indirect Tax (D) Subsidy

Per Capita Income means

A) Gross National Income B) Gross Domestic Product
Total Population Total Population
Net National Income Net Domestic Product
Total Population Total Population

Vide 74th amendment of Constitution in which Articles were the provisions of municipality
added ?

(A) Article 241 (B) Article 242 (C) Article 243 (D) Article 245
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142.

143.

144.

145.

146.

147.

148.

149.

150.

o{lAotl US| sl 56Ul HEA GST L] USA?
1. Ao ASAULY R
2. lduls aA

3. uldu 2su

4. Ae

(A) 85cl 1 Ual 2 (B) $5cL 3 ol 4
(C) $5c1 1,3 4 (D) 1,2, 334 4

AYsct AN st o Aott Ul 52l ctRclaell %o 2Acicel AMA Rz @R1w) 3l 53 B 2
(A) sllAcua AMLegBH (B) yuslan eucl
(C) AN A Yojcial (D) elldAet Al

Uscllcoll FosUl scllo] £ollRl 3q &l & 2
(A) ecig (B) euR (C) utan (D) olad

FEMA of 3i(v] 23U 9 8 2
(A) Free Exchange of Money Assets (B) Foreign Exchange Money Act
(C) Free Exchange Money Assets (D) Foreign Exchange Management Act

wellal ceAclel WeAREL KUl WMl waAg & ?

(A) %ellol3 (B) ellcelolR

(C) wnel (D) WlRoieR
cRsRAR sl YAl AU CAvAl &cll ?

(A) clletedl au@et (B) scuacl ol
(C) Autadl sl (D) ellettadl adla

RReot 2ty WALl Al 2uudl 56 wevel 1ol 20a 8 2
(A) agou (B) UlcRL (C) slg (D) ¢

wyef AR U “YUuUAR(” otits A ollwat UeHiouAletl s(Aej ottt wauel.

(A) dldHelt (B) (Qatoua ool

(C) R (D) kY

el ourisla o0 sl ud 82

(A) sl (B) ekl Rxd ds
(C) @lRdlell dstyutilel (D) Gurell U8l 818 otel
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142. GST would apply in place of which of the following taxes ?
1. Central excise
2. Professional tax
3. Service tax
4. VAT
(A) Only 1and 2 (B) Only 3and 4
(C) Only 1,3 and 4 (D) 1,2,3and 4
143. The United Nations has issued a stamp to mark the birth centenary of which of the following
Indians ?
(A) Srinivasa Ramanujam (B) Subramanian Bharati
(C) M. S. Subbulakshmi (D) Bhimsen Joshi
144. How is the pressure at the centre of the Cyclone ?
(A) Low (B) Heavy (C) Medium (D) Negligible
145. What is the full form of FEMA ?
(A) Free Exchange of Money Assets (B) Foreign Exchange Money Act
(C) Free Exchange Money Assets (D) Foreign Exchange Management Act
146. In which district is the Pania Wild Life Sanctuary situated ?
(A) Junagadh (B) Bhavnagar
(C) Amreli (D) Porbandar
147. Which famous book was written by Bhaskaracharya ?
(A) Lilavati Ganit (B) Kalavati Ganit
(C) Champavati Ganit (D) Shilavati Ganit
148. Which pearl giving fish is found near Pirotan Island ?
(A) Beluga (B) Patra (C) Kalu (D) Zulu
149. Give the name of the poet of the two significant poems, “Chaturchalishi” and “Prempachishi”.
(A) Pritamdas (B) Vishvanath Jani
(C) Ratneshwar (D) Virii
150. Who frames the Monetary Policy in India ?
(A) Finance Minister (B) Reserve Bank of India
(C) Prime Minister of India (D) None of the above
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